Example

113.000
Las: 5 paak-pesk magritudes: 110000
1) mex= $6.380 dme=  9.434
min = §7.661 time= 10.712 103000
pealepesk =  3.918
2) mex = 24526 dme= 11771
pealcpeak = 5304
3) max= £3371  rime= 13904
min = €225 time= 14962 03.000
pealepeak = 3146 —
4) max= 92512 time= 16021 g
min = WAl time= 17113 "= D000
pealepeak = 1901 f
3) max = 01541 time= 18163
it = @311 time= 19246 25000
prakepeak = 1128
Average Damping (list 5 pealepeak): 20,000
40347 %
Awe. Freg. Cecillation (last 3 peale-peak):
0.470H=z 73.000
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Time (z2¢)
P1 =Pt - P1=1.129 d, = 1- (1.129/1.901) = 0.406102
Pz = Pzs - Pap=1.901
o= p o 146 d, = 1- (1.901/3.146) = 0.395741
3 — M3~ Hib -
Do = D - pay=5.304 ds = 1- (3.146/5.304) = 0.406863
D = pas - ey8.918 ds = 1- (5.304/8.918) = 0.405248

Average Damping Ratio = (d,+d;+ds+d,) x 100/ 4 = 40.35%



